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Question Id : 68634040003 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time

: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension



Read the passage carefully and answer the question.

All over the world the wild fauna has been whittled down steadily and remorselessly. and many lovely and
mteresting animals have been so reduced in numbers that. without protection and help, they can never re-
establish themselves. If they cannot find sanctuary where they can live and breed undisturbed. their numbers
will dwindle until they join the dodo. the quagga. and the great auk on the long list of extinct creatures.

Of course. in the last decade or so much has been done for the protection of wild life: sanctuaries and reserves
have been started. and the reintroduction of species mto areas where it had become extinet 1s taking place. In
Canada. for instance. beavers are now being reintroduced into certain areas by means of aero plane.

But although much is being done. there is still a very great deal to do. Unfortunately. the majority of useful
work in animal preservation has been done mainly for animals which are of some economic importance to
man and there are many obscure species of no economic importance which. although they are protected on
paper. are mn actual fact being allowed to die out because nobody. except a few interested zoologists. considers
them important enough to spend money on.

As mankind increases year by year. and as he spreads farther over the globe burning and destroying. it is some
small comfort to know that there are certain private individuals and some institutions who consider that the
work of trying to save and give sanctuary to these harried animals 13 of some importance. It 1¢ important for
many reasons, but perhaps the best of them 1s this: man for all his genius, cannot create a species. nor can he
recreate one he has destroyed. So until we consider animal life to be worthy of the consideration and reverence
we bestow upon old books and pictures and historic monuments, there will always be the animal refugee living
a precarious life on the edge of extermination. dependent for existence on the charity of a few human beings.

Sub questions

Question Number : 1 Question Id : 68634040004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following would prove most effective in preserving wild life?

1. More Zoos

| S]

. Allocation of more funds
3. Sanctuaries
4. Loa against destruction of wild life

Options :

686340158001. 1
686340158002. 2
686340158003. 3
686340158004. 4

Question Number : 2 Question Id : 68634040005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Animal species should be preserved mainly because

1. man cannot recreate a species of animal if it be destroyed
2. zoologists want to study them
3. they are killed by cruel people
4. they are lovely creatures

Options :

686340158005. 1

686340158006. 2

686340158007. 3
686340158008. 4

Question Number : 3 Question Id : 68634040006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What attitude towards wild life does the author think most appropriate?

1. Sympathy

| S

. Cruetly
3. Pity

4. Reverence

Options :

686340158009. 1
686340158010. 2
686340158011. 3
686340158012. 4

Question Number : 4 Question Id : 68634040007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following types of animals does man chiefly protect?
1. Harmless animals
2. Economically useful
3. Those without any shelter
4. Feeble animals
Options :
686340158013. 1

686340158014. 2
686340158015. 3



686340158016. 4

Question Number : 5 Question Id : 68634040008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

The wild life 1s about to become extinet mainly because:

1. people kill animals callously

2

. there are very few places reserved for wild animals

L 5]

. people are ignorant
4. there are few institutions for preservation of wild life

Options :

686340158017. 1
686340158018. 2
686340158019. 3
686340158020. 4

Question Id : 68634040003 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the passage carefully and answer the question.

All over the world the wild fauna has been whittled down steadily and remorselessly. and many lovely and
mteresting animals have been so reduced in numbers that. without protection and help, they can never re-
establish themselves. If they cannot find sanctuary where they can live and breed undisturbed. their numbers
will dwindle until they join the dodo. the quagga. and the great auk on the long list of extinet creatures.

Of course, in the last decade or so much has been done for the protection of wild life: sanctuaries and reserves
have been started. and the reintroduction of species into areas where it had become extinct 1s taking place. In
Canada. for instance, beavers are now being reintroduced into certain areas by means of aero plane.

But although much 1s bemg done. there 1s still a very great deal to do. Unfortunately. the majority of useful
work in animal preservation has been done mainly for animals which are of some economic importance to
man and there are many obscure species of no economic importance which. although they are protected on
paper, are in actual fact being allowed to die out because nobody. except a few interested zoologists, considers
them important enough to spend money on.

As mankind increases year by year. and as he spreads farther over the globe burning and destroying. it is some
small comfort to know that there are certain private individuals and some institutions who consider that the
work of trying to save and give sanctuary to these harried animals 13 of some importance. It 1¢ important for
many reasons. but perhaps the best of them 1s this: man for all his genius. cannot create a species. nor can he
recreate one he has destroyed. So until we consider animal life to be worthy of the consideration and reverence
we bestow upon old books and pictures and historic monuments, there will always be the animal refugee living
a precarious life on the edge of extermination. dependent for existence on the charity of a few human beings.

Sub questions



Question Number : 1 Question Id : 68634040004 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following would prove most effective in preserving wild life?
1. More Zoos
2. Allocation of more funds
3. Sanctuaries
4. Loa against destruction of wild life
Options :
686340158001. 1
686340158002. 2

686340158003. 3
686340158004. 4

Question Number : 2 Question Id : 68634040005 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Animal species should be preserved mainly because

1. man cannot recreate a species of animal if it be destroyed

-2

. zoologists want to study them
3. they are killed by cruel people
4. they are lovely creatures

Options :

686340158005. 1

686340158006. 2

686340158007 3
686340158008. 4

Question Number : 3 Question Id : 68634040006 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (
Correct Marks : 4 Wrong Marks : 1

What attitude towards wild life does the author think most appropriate?

1. Sympathy

J

. Cruetly
3. Pity

4. Reverence

Options :



686340158009. 1
686340158010. 2
686340158011. 3
686340158012. 4

Question Number : 4 Question Id : 68634040007 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following types of animals does man chiefly protect?

1. Harmless animals

J

. Economically useful
3. Those without any shelter

4. Feeble animals

Options :

686340158013. 1
686340158014. 2
686340158015. 3
686340158016. 4

Question Number : 5 Question Id : 68634040008 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The wild life is about to become extinet mainly because:
1. people kill animals callously
2. there are very few places reserved for wild animals

3. people are ignorant

4. there are few institutions for preservation of wild life

Options :

686340158017. 1
686340158018. 2
686340158019. 3
686340158020. 4

Sub-Section Number : 2
Sub-Section Id : 6863401314
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634040009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Synonym of the word 'CELESTIAL' 1a:

1. Solar

| S

. Gralactic
3. Astral

4. Heavenly

-

Options :

686340158021. 1
686340158022. 2
686340158023. 3
686340158024. 4

Question Number : 6 Question Id : 68634040009 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Synonym of the word 'CELESTIAL' 1s:

1. Solar

| S]

. Galactic
3. Astral

4. Heavenly
Options :
686340158021. 1
686340158022. 2
686340158023. 3
686340158024. 4

Question Number : 7 Question Id : 68634040010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions from the following options:

India is one of the richest countries the world in terms of biodiversity. Due anthropogenic
activities, many species have lost their habitat and even become extent. International Union
conservation nature and natural resources has categorized with flora and fauna into eight categories.

1. in, of, to. for

[ ]

.of. to, of, m

L]

.in, for. of, to
4. . to, for, of

Options :

686340158025. 1
686340158026. 2
686340158027. 3
686340158028. 4

Question Number : 7 Question Id : 68634040010 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the following options:

India is one of the richest countries the world in terms of biodiversity. Due anthropogenic
activities. many species have lost their habitat and even become extent. International Union
conservation nature and natural resources has categorized with flora and fauna into eight categories.

1. in, of, to. for

k-2

. of, to. of, in
3.1, for. of to
4. in. to. for. of

Options :

686340158025. 1
686340158026. 2
686340158027. 3
686340158028. 4

Question Number : 8 Question Id : 68634040011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blank with suitable word from the options given below:
Light n a straight line.

1. goes

| B

. shines
3. moves
4. travels

Options :

686340158029. 1
686340158030. 2
686340158031. 3
686340158032. 4

Question Number : 8 Question Id : 68634040011 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Fill in the blank with suitable word from the options given below:

Light n a straight line.

1. goes

| B

. shines
3. moves
4. travels

Options :

686340158029. 1
686340158030. 2
686340158031. 3
686340158032. 4

Question Number : 9 Question Id : 68634040012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which word is not the synonym of 'Colossal'.

1. huge

| ]

. gigantic
3. connmence

4, enormous



Options :

686340158033. 1
686340158034. 2
686340158035. 3
686340158036. 4

Question Number : 9 Question Id : 68634040012 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which word is not the synonym of 'Colossal'.

1. huge

(]

. gigantic
3. conumence

4, enormous

Options :

686340158033. 1
686340158034. 2
686340158035. 3
686340158036. 4

Question Number : 10 Question Id : 68634040013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Correct the sentence by replacing the under lined phrase:

Those who are indecisive can be readily persuading to change their mind again.

1. can be readily persuasive

| )

. can be readily persuaded
3. could be ready to persuade
4. can be ready persuading

Options :

686340158037. 1
686340158038. 2
686340158039. 3
686340158040. 4

Question Number : 10 Question Id : 68634040013 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Correct the sentence by replacing the under lined phrase:

Those who are indecisive can be readily persuading to change their mind again.

1. can be readily persuasive

-

. can be readily persuaded
3. could be ready to persuade
4. can be ready persuading

Options :

686340158037. 1
686340158038. 2
686340158039. 3
686340158040. 4

Question Number : 11 Question Id : 68634040014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the value of

16+4=4 —3+2

| )
|
e

Options :

686340158041. 1
686340158042. 2
686340158043. 3
686340158044. 4

Question Number : 11 Question Id : 68634040014 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the value of

16+4=4 —3+2

| )
|
e

4. 15

Options :

686340158041. 1
686340158042. 2
686340158043. 3
686340158044. 4

Question Number : 12 Question Id : 68634040015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A cardboard box of dimensions 80 em = 60 cm x 75 em is to be constructed. Find the cardboard required (in
m?) for the box.

1.4.3

[ BO)
>
=]

4. 3.06

Options :

686340158045. 1
686340158046. 2
686340158047. 3
686340158048. 4

Question Number : 12 Question Id : 68634040015 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A cardboard box of dimensions 80 ¢m = 60 cm x 75 cm is to be constructed. Find the cardboard required (in
m?) for the box.

1.4.3

| )

.4.16

4. 3.06

Options :

686340158045. 1
686340158046. 2
686340158047. 3
686340158048. 4

Question Number : 13 Question Id : 68634040016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A fruit vendor bought apples for T 6.000. He sold 40% stock with 25% profit. another 40% stock with 15%
profit and the rest with 10% profit. Find his profit percentage.

1.21%

| B}

. 19%

. 18%

LF¥]

4.18.5%

Options :

686340158049. 1
686340158050. 2
686340158051. 3
686340158052. 4

Question Number : 13 Question Id : 68634040016 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A fruit vendor bought apples for  6,000. He sold 40% stock with 25% profit. another 40% stock with 15%
profit and the rest with 10% profit. Find his profit percentage.

1.21%

| B

. 19%

. 18%

L¥¥]

4.18.5%



Options :

686340158049. 1
686340158050. 2
686340158051. 3
686340158052. 4

Question Number : 14 Question Id : 68634040017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of the three numbers. first number is twice of the second number and thrice of the third number. The
average of their reciprocals 1s 1/6. The numbers are:

1.6.3.

[ S

| Be]

C8. 4

| ]

3.12.6,4
4.18,.12.6

Options :

686340158053. 1
686340158054. 2
686340158055. 3
686340158056. 4

Question Number : 14 Question Id : 68634040017 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Out of the three numbers. first number is twice of the second number and thrice of the third mumber, The
average of their reciprocals is 1/6. The numbers are:

1.6, 3,

[ ]

| B

C8. 4

| ]

3.12.6,4
4.18,.12.6

Options :

686340158053. 1
686340158054. 2
686340158055. 3
686340158056. 4

Question Number : 15 Question Id : 68634040018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A train runnimg at 90 km/'h crosses a 400 m long another train running towards it on parallel tracks at 80 kim/'h
in 18 seconds. How much time will it take to pass a 450 m long tunnel?

1. 28 seconds

| )

. 32 seconds

. 34 seconds

Lad

4. 36 seconds

Options :

686340158057. 1
686340158058. 2
686340158059. 3
686340158060. 4

Question Number : 15 Question Id : 68634040018 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A train running at 90 km/h crosses a 400 m long another train running towards it on parallel tracks at 80 km/h
i 18 seconds. How much time wall it take to pass a 450 m long tunnel?

1. 28 seconds

[ )

. 32 seconds

. 34 seconds

LF¥]

4. 36 seconds
Options :
686340158057. 1
686340158058. 2

686340158059. 3
686340158060. 4

Question Number : 16 Question Id : 68634040019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A is facing the east direction. If he turns 270° he will face:
1. North direction
2. South direction
3. West direction

4. North or South direction

Options :



686340158061. 1
686340158062. 2
686340158063. 3
686340158064. 4

Question Number : 16 Question Id : 68634040019 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A is facing the east direction. If he turns 270° he will face:

1. North direction

| ]

. South direction

Laa

. West direction

4, North or South direction

Options :

686340158061. 1
686340158062. 2
686340158063. 3
686340158064. 4

Question Number : 17 Question Id : 68634040020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

The tenth term of the given series 4Z, 5Y. 6X. TW. will be:

1.13M

J

.13P
3.130
4.13N

Options :

686340158065. 1
686340158066. 2
686340158067. 3
686340158068. 4

Question Number : 17 Question Id : 68634040020 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The tenth term of the given series 4Z, 5Y. 6X. TW. will be:

1.13M

| ]

13P
3.130

4. 13N

Options :

686340158065. 1
686340158066. 2
686340158067. 3
686340158068. 4

Question Number : 18 Question Id : 68634040021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the given figure find the value of x (O is the center of the given circle?

4. 65°

Options :

686340158069. 1
686340158070. 2
686340158071. 3
686340158072. 4

Question Number : 18 Question Id : 68634040021 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the given figure find the value of x (O is the center of the given circle?

2. 50°

Options :

686340158069. 1
686340158070. 2
686340158071. 3
686340158072. 4

Question Number : 19 Question Id : 68634040022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

ZOOM is coded as 138, The code 72 will be:

1.ROOT

b2

. TAGH
3. TOST

4. TOOR

Options :

686340158073. 1
686340158074. 2
686340158075. 3
686340158076. 4

Question Number : 19 Question Id : 68634040022 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ZOOM is coded as 138, The code 72 will be:

1.ROOT

b2

. TAGH
3. TOST
4. TOOR
Options :
686340158073. 1
686340158074. 2

686340158075. 3
686340158076. 4

Question Number : 20 Question Id : 68634040023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
2.7, 14, 23, 34,
Complete the series choosing appropriate option:
1. 36
2.43
3.47
4. 62
Options :
686340158077. 1
686340158078. 2

686340158079. 3
686340158080. 4

Question Number : 20 Question Id : 68634040023 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
2.7, 14, 23, 34,
Complete the series choosing appropriate option:
1. 36
2.43
3.47

4. 62



Options :

686340158077. 1
686340158078. 2
686340158079. 3
686340158080. 4

Question Number : 21 Question Id : 68634040024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first general election in India was held in

1. 1950

| ]

. 1951
3. 1952
4. 1947

Options :

686340158081.
686340158082.
686340158083.
686340158084.

AW N =

Question Number : 21 Question Id : 68634040024 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first general election in India was held in

1. 1950

J

. 1951
3. 1952
4. 1947

Options :

686340158081.
686340158082.
686340158083.
686340158084.

W N =

Question Number : 22 Question Id : 68634040025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

ILIST I (Monuments)| LIST II (Country)
Imperial palace | 1. [France

(Opera House II. [Denmark
Eiff=] Tower 111 |Australia
[Kindu Disk IV. Japan

ofofw[>

Choose the correct answer from the options given below:

1. A-IV. B-I. C-III. D-II

| )

AL B-IV. C-1. D-II
3. A-IV. B-III. C-1. D-II
4. A-IV, B-III. C-II. D-I

Options :

686340158085. 1
686340158086. 2
686340158087 3
686340158088. 4

Question Number : 22 Question Id : 68634040025 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Monuments)] LIST II (Country)
Imperial palace | 1. |[France

Opera House 1. [Denmark
Eiffel Tower 1L |Australia
[Kindu Disk IV Papan

o ofw[>

Choose the correct answer from the options given below:

1. A-IV. B-I. C-III. D-IT

[

AL B-IV. C-1, D-II
3. A-IV. B-IIL. C-I. D-II
4. A-IV. B-ITI. C-II. D-I

Options :

686340158085. 1
686340158086. 2
686340158087. 3
686340158088. 4

Question Number : 23 Question Id : 68634040026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

When was Jana-Gana-Mana (which later became National Anthem' of India) first sung and where?

1, 24t January, 1950 in Allahabad

| S

.24th January, 1950 in Delhi
3. 26 December, 1942 in Calcutta

4. 27" December, 1911 in Calcutta

Options :

686340158089. 1
686340158090. 2
686340158091. 3
686340158092. 4

Question Number : 23 Question Id : 68634040026 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

When was Jana-Gana-Mana (which later became National Anthem' of India) first sung and where?

1. 24t January. 1950 in Allahabad

| S

.24t January, 1950 in Delhi
3. 26™ December, 1942 in Calcutta

4. 27" December, 1911 in Calcutta

Options :

686340158089. 1
686340158090. 2
686340158091. 3
686340158092. 4

Question Number : 24 Question Id : 68634040027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement [ : Lord Mountbatten was the Viceroy when Simla conference took place.

Statement I1 : Indian Navy Revolt, 1946 took place when the Indian Satlors in the Royal Indian Navy at
Bombay and Karachi rose against the Government.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement IT are true
2. Both Statement [ and Statement are false
3. Statement I is true but Statement II is false

4. Statement I 1s false but Statement I1 15 true

Options :

686340158093. 1
686340158094. 2
686340158095. 3
686340158096. 4

Question Number : 24 Question Id : 68634040027 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I : Lord Mountbatten was the Viceroy when Simla conference took place.

Statement II ; Indian Navy Revolt, 1946 took place when the Indian Sailors in the Royal Indian Navy at
Bombay and Karachi rose against the Government.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement [ and Statement are false
3. Statement I iz true but Statement II is false

4. Statement [ is false but Statement 11 1s true

Options :

686340158093. 1
686340158094. 2
686340158095. 3
686340158096. 4

Question Number : 25 Question Id : 68634040028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The gas which 1s present in both natural gas and bio-gas is

1. Methane

| S

. Carbon Monoxide
3. Hydrogen
4. Butane

Options :

686340158097. 1
686340158098. 2
686340158099. 3
686340158100. 4

Question Number : 25 Question Id : 68634040028 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The gas which is present in both natural gas and bio-gas is

1. Methane
2. Carbon Monoxide
3. Hydrogen
4. Butane

Options :

686340158097. 1

686340158098. 2

686340158099. 3
686340158100. 4

Part B: Medical Laboratory Technology

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :
Maximum Instruction Time :
Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

686340788
2

Online
Mandatory
75

75

300

Yes

0

1
6863401315
Yes

null



Question Number : 26 Question Id : 68634040029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Germ cells develops from:-
1. Yolk Sac
2. Surface ectoderm
3. Coelomic endoderm
4. Trophoblastic Layer
Options :
686340158101. 1
686340158102. 2

686340158103. 3
686340158104. 4

Question Number : 26 Question Id : 68634040029 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
oA I e e g -
1. Of® B "
. g¥Tg ST |
3. WTE! of=agd o

4. Ulds SRHI wa 9

[ ]

Options :

686340158101. 1
686340158102. 2
686340158103. 3
686340158104. 4

Question Number : 27 Question Id : 68634040030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Weight of adrenal gland 1s:
1. 4 gram
2. 8 gram
3. 10 gram
4. 15 gram
Options :
686340158105. 1
686340158106. 2

686340158107. 3
686340158108. 4

Question Number : 27 Question Id : 68634040030 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SifigeP I ST UR BT |

1.4 UMH

| B

.8 UTH
3. 10 UTH
4. 15 9TH
Options :
686340158105. 1
686340158106. 2

686340158107. 3
686340158108. 4

Question Number : 28 Question Id : 68634040031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Muller muscle 1is supplied by which Nerve.

1. Facial Nerve

]

. Sympathetic Nerve
3. Trigeminal Nerve
4. Vagus Nerve

Options :
686340158109. 1



686340158110. 2
686340158111.3
686340158112. 4

Question Number : 28 Question Id : 68634040031 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR A o v a2

1, = et
3. et dfEee
4. QY dfADT

Options :

686340158109. 1

686340158110. 2

686340158111. 3
686340158112. 4

[ ]

Question Number : 29 Question Id : 68634040032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Base of the Heart is formed by.

1. Right ventricle

-2

. Right Atrium
3. Left Atrium

4, Left Ventricle

Options :

686340158113. 1
686340158114. 2
686340158115. 3
686340158116. 4

Question Number : 29 Question Id : 68634040032 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



53T BT YR YT fred aar &
et g S
2. 30 g 9
3. 90 3icie g
4. 90 Feg g

ik

]

Options :

686340158113. 1
686340158114. 2
686340158115. 3
686340158116. 4

Question Number : 30 Question Id : 68634040033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Mean deviation is minimum when deviations are taken from.

1. Mean

b2

. Mode
3. Median

4. Zero

Options :

686340158117. 1
686340158118. 2
686340158119. 3
686340158120. 4

Question Number : 30 Question Id : 68634040033 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H1e faaeH <I-ad gial 5. 9 fagaH feran =i g:
1. 91eg ({9 |

Ars Y

T (fafsa) 9

4. 314

Options :

| )

%]



686340158117. 1
686340158118. 2
686340158119. 3
686340158120. 4

Question Number : 31 Question Id : 68634040034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Pictograms are shown by.

1. Dots

b2

. Cirecles
3. Lines
4. Pictures

Options :

686340158121. 1
686340158122. 2
686340158123. 3
686340158124. 4

Question Number : 31 Question Id : 68634040034 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
foere s 1 fergd uaiid fearwmars -
1, fagsii =
2. 77l 4
3. 3@ g
4. =t g

Options :

686340158121. 1
686340158122. 2
686340158123. 3
686340158124. 4

Question Number : 32 Question Id : 68634040035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The median of the variable values 11.7. 6. 9, 12, 15. 19

| S
yi
¥

4. 11

Options :

686340158125. 1
686340158126. 2
686340158127. 3
686340158128. 4

Question Number : 32 Question Id : 68634040035 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faeR |@F1 11.7. 6. 9, 12. 15, 19 &1 Hrea (HifST) 8 -

1. 19

12
j—t
Ln

4.11

Options :

686340158125. 1
686340158126. 2
686340158127. 3
686340158128. 4

Question Number : 33 Question Id : 68634040036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Anticodons are present on.
1.t RNA
2.mRNA
3. rBRNA
4. Coding strand of DNA

Options :
686340158129. 1
686340158130. 2



686340158131. 3
686340158132. 4

Question Number : 33 Question Id : 68634040036 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Uclepre Hafafaa ot o urd ord &
A ARTAT

—

o

2. UHHRUAY

%]

CHRSRUAT

fea

BT U BT DS THD

Options :

686340158129. 1
686340158130. 2
686340158131. 3
686340158132. 4

Question Number : 34 Question Id : 68634040037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is not invelved in eukaryotic translation.

1. Ribosome
2. Spliceosome
3.mRNA
4. tRNA

Options :

686340158133. 1

686340158134. 2

686340158135. 3
686340158136. 4

Question Number : 34 Question Id : 68634040037 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frfoRad o1F &1 HHme 5! e | Fifed T8 g g
1. AEAEH

RERIERITIb

3.UHARTATY

[ ]

4. FYRTAT

Options :

686340158133. 1
686340158134. 2
686340158135. 3
686340158136. 4

Question Number : 35 Question Id : 68634040038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The antigen binding site of an Antibody is present.

1. At the constant region

J

. At the c-terminal
3. At the variable region
4. Between the constant and variable region
Options :
686340158137. 1
686340158138. 2

686340158139. 3
686340158140. 4

Question Number : 35 Question Id : 68634040038 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
ot tdtarat o Ui duToR] ™d SUd sidl
L. RRgad
2. c- e W
3. gRadf &
4. RR IR URadf e H = d

Options :




686340158137. 1
686340158138. 2
686340158139. 3
686340158140. 4

Question Number : 36 Question Id : 68634040039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Protein that helps other proteins to fold correctly is.

1. Chaperone

b2

. proteasome

LFN]

. Ubiquitin
4. Desmosome

Options :

686340158141. 1
686340158142. 2
686340158143. 3
686340158144. 4

Question Number : 36 Question Id : 68634040039 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TE UIEH 91 30 WIcH &1 el aild © Hifes (@) P+ J 9eaal Xd 6. 96 6
1. 9RH
e
3. glafdfe
4. SHEH
Options :
686340158141, 1
686340158142.2

686340158143. 3
686340158144. 4

[ ]

Question Number : 37 Question Id : 68634040040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Normal Plasma Osmolality (in mOsm/'ke) 1s:-

1.100-125

b2

. 200-225

4. 300-325

Options :

686340158145. 1
686340158146. 2
686340158147. 3
686340158148. 4

Question Number : 37 Question Id : 68634040040 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TH roH] R (mOsm/Kg) H 8l @ :

1. 100-125

|

. 200-225

4. 300-325

Options :

686340158145. 1
686340158146. 2
686340158147. 3
686340158148. 4

Question Number : 38 Question Id : 68634040041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Severe HTN (Hypertension) cut off is.

1.<120/ <80

| S

.<130/<85
3. <1160/ < 100
4.>180/= 110

Options :

686340158149. 1
686340158150. 2



686340158151. 3
686340158152. 4

Question Number : 38 Question Id : 68634040041 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SU HTN (SR HT1 & ATH Bl © |
1.<120/ <80

2.< 130/ <85

it
M
—
L=
=
M

= 100

4.=180/>=110

|

Options :

686340158149. 1
686340158150. 2
686340158151. 3
686340158152. 4

Question Number : 39 Question Id : 68634040042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Trachea ig also called the.

1. Lungs

J

. Windpipe
3. Diaphragm
4. Bronchus

Options :

686340158153. 1
686340158154. 2
686340158155. 3
686340158156. 4

Question Number : 39 Question Id : 68634040042 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. BFe
BTIRET]]

3. SHERH

[ ]

4. §l-HYg

Options :

686340158153. 1
686340158154. 2
686340158155. 3
686340158156. 4

Question Number : 40 Question Id : 68634040043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Milk ejection is facilitated by:

1. Prolactin

-2

. Oxytocin
3. Growth Hormone
4. ACTH
Options :
686340158157. 1
686340158158. 2

686340158159. 3
686340158160. 4

Question Number : 40 Question Id : 68634040043 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. Wit &R
2. SR g

gig g ERI

%]

4. ACTH gIRI

Options :
686340158157. 1



686340158158. 2
686340158159. 3
686340158160. 4

Question Number : 41 Question Id : 68634040044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the formula of absolute neutrophil count with the help of DLC and TLC

1. DLC x Neutrophil%
100

2. DLC x Neutrophil%
1000

3. TLC x Neutrophil%s
100

4. TLC x Neutrophil%
1000

Options :

686340158161. 1
686340158162. 2
686340158163. 3
686340158164. 4

Question Number : 41 Question Id : 68634040044 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DLC 3R TLC & 9gEal & gl e SIs< &l g3 F1 8

1. DLC x Neutrophil%
100

2. DLC x Neutrophil%
1000

3. TLC x Neutrophil%
100

4. TLC x Neutrophil%
1000

Options :

686340158161. 1
686340158162. 2
686340158163. 3
686340158164. 4



Question Number : 42 Question Id : 68634040045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

EDTA solution 1s prepared by dissolving ..... of EDTA in 100 ml distilled water

1.5 g

-2

.10 gm
3.15gm
4. 20 gm

Options :

686340158165. 1
686340158166. 2
686340158167. 3
686340158168. 4

Question Number : 42 Question Id : 68634040045 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EDTA 8@ &1 100m1 31gd o EDTA e 811 971dl &

1.50H

[ ]

.10 9H
3.1549MH
4. 20 4H

Options :

686340158165. 1
686340158166. 2
686340158167. 3
686340158168. 4

Question Number : 43 Question Id : 68634040046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Clothing factor I, V, VIII. XIIT come under which group.

1. Fibrinogen group

| S]

. Thrombin group
3. Prothrombin group
4. Contact group
Options :
686340158169. 1
686340158170. 2

686340158171. 3
686340158172. 4

Question Number : 43 Question Id : 68634040046 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Whad PR (FAET BaeR) L V. VIL XIII [ THg 5 o & -
1. BIEEHIH 9
il wiE
Ui g
% THE

[ ]

%]

e

Options :

686340158169. 1
686340158170. 2
686340158171. 3
686340158172. 4

Question Number : 44 Question Id : 68634040047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SERUM CALCIUM [Ca™ "] Normal Values i Adults is:

1.7.9-8.2 mg /dL

| ]

6.2-7.2 mg /dL

3. 8.8-10.7 mg /dL

4. 8.4-10.7 mg /dL



Options :

686340158173. 1
686340158174. 2
686340158175. 3
686340158176. 4

Question Number : 44 Question Id : 68634040047 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U] § ERE Sfemd (ca ) I A §

.79 82 mg/dL
2.62872mg/dL
3.88Y10.7mg/dL
4.84¥10.7 mg/ dL

Options :

686340158173. 1

686340158174. 2

686340158175. 3
686340158176. 4

Question Number : 45 Question Id : 68634040048 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which vitamins is associated with Carboxylation reactions.

1. Thiamine
2. Riboflavin V
3. Biotin
4. Folic Acid

Options :

686340158177. 1

686340158178. 2

686340158179. 3
686340158180. 4

Question Number : 45 Question Id : 68634040048 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&9 1 faeit sralfdgdiexu sfifbarsi d decgars
1. Y=
RIEEIERIGERY
3. @i
4. BifeTd o
Options :
686340158177. 1
686340158178. 2

686340158179. 3
686340158180. 4

[ ]

Question Number : 46 Question Id : 68634040049 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is an Omega-3 fatty acid?

1. Linoleic acid

J

. e=Linolenic acid
3. Oleic acid

4. Arachidonic acid
Options :
686340158181. 1
686340158182.2

686340158183. 3
686340158184. 4

Question Number : 46 Question Id : 68634040049 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafafad O 9 oI5 1 -3 a9 3ad 37
INRGIREERELN
Z.OC-W%QB?W
3. HifeTue 3
4, WDISIHE e

Options :
686340158181. 1



686340158182. 2
686340158183. 3
686340158184. 4

Question Number : 47 Question Id : 68634040050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which vitamin can be synthesized from tryptophan.

1. Niacin
2. Riboflavin
3. Cobalamin
4. Folic acid

Options :

686340158185. 1

686340158186. 2

686340158187. 3
686340158188. 4

Question Number : 47 Question Id : 68634040050 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fopw faeTfim o1 dueiuu fepieE § fohar o gadl e
1. FemieE
3. BIAAE
4. Pifdia 3
Options :
686340158185 1
686340158186. 2

686340158187. 3
686340158188. 4

| ]

Question Number : 48 Question Id : 68634040051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Water soluble form of vitamin K is.

—

. Phylloquinone

| S]

. Menaquinone
3. Menadione

4. Primidone

Options :

686340158189. 1
686340158190. 2
686340158191. 3
686340158192. 4

Question Number : 48 Question Id : 68634040051 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faeTiiq K &1 oid § go=eiid 9 0 (B1H) § -

4. §|1§ﬁ| SiE
Options :
686340158189. 1
686340158190. 2

686340158191. 3
686340158192. 4

Question Number : 49 Question Id : 68634040052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following statement is not correct with regard to transposition in bacteria.
1. Transposition can occur from plasmid to genomic DNA
2. Transposition can occur from as plasmid to another plasmid
3. In transposition DNA sequence cannot jump from one site to another in the genome of a cell

4. Transposable elements contain genes encoding resistance to antibiotics

Options :
686340158193. 1



686340158194. 2
686340158195. 3
686340158196. 4

Question Number : 49 Question Id : 68634040052 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
siarafl H SRR (gaiaeo) & 5 1 Fafiad § 9 oF 91 %Y= 981 761 62
1. HOOeieH @S 9 |5 DNA H 8l 9%dl ©
2. TSR U9 Wits 9 gER @S 3 g1 9@ g
3. Cigrioiee & farddt BT & SfiH19 § DNA 35 H U RUd 3 R R $S 1 1 off hdl &
4, TEYIE T Hed (Y&TaRig dand Ueamiicay & o AiRIed &f Pedidd $3 aTd oiiF old o

)

Options :

686340158193. 1
686340158194. 2
686340158195. 3
686340158196. 4

Question Number : 50 Question Id : 68634040053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Bartonella are tiny gram negative bacteria these are usually transmitted by:

1. Arthropods

2

. Rats
3. Birds
4. Human beings

Options :

686340158197. 1
686340158198. 2
686340158199. 3
686340158200. 4

Question Number : 50 Question Id : 68634040053 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SICHal Y& I SRRl SiaTY] 6 | ST HaR0 JH: Bial 6
1. fYdE / wferrg Siigl

2.5 8
3. gfémai 9

4. TN H

Options :

686340158197. 1
686340158198. 2
686340158199. 3
686340158200. 4

Question Number : 51 Question Id : 68634040054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tube Aggulutination 1s not employed for the Serological diagnosis of:

1. Enteric fever

2. Brucellosis

3. Thypus fever

4, Cancer

Options :

686340158201. 1
686340158202. 2
686340158203. 3
686340158204. 4

Question Number : 51 Question Id : 68634040054 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il HTLRIVT (Cd W) 1 SUd & HRH M & fau 38l A e g

iy

1. 3F aR / USRS Blae

R IlIREs
3. TSP SaX
4. PR

Options :
686340158201. 1

[ ]



686340158202. 2
686340158203. 3
686340158204. 4

Question Number : 52 Question Id : 68634040055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which test is done to diagnose Rickettsial Infection.

1. Widal test
2. Weil-Felix test
3. ASO test
4. CRP test

Options :

686340158205. 1

686340158206. 2

686340158207. 3
686340158208. 4

Question Number : 52 Question Id : 68634040055 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rebefars Sonul & &M & o BiF T ORI&T faa] o
1. f[osTa usterm
2. Aia-Trferes qRiamo
3. ASO TXI&f]

4. CRP TRI&07

Options :

686340158205. 1
686340158206. 2
686340158207. 3
686340158208. 4

Question Number : 53 Question Id : 68634040056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



40% formaldehyde iz equal to % of formalin

1.25%

| S]
[
[
e -]
[ = B

4. 100%

Options :

686340158209. 1
686340158210. 2
686340158211. 3
686340158212. 4

Question Number : 53 Question Id : 68634040056 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

40 % BHHfEEES % PBIHe & RE gId & ;

1.

| B
L]

%

b
LN

0%
3. 75%
4. 100%
Options :
686340158209. 1
686340158210. 2

686340158211. 3
686340158212. 4

Question Number : 54 Question Id : 68634040057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Frozen section is used to demonstrate inclusion.
1. Secretory granules
2. Glycogen
3. Lipid
4. Pigments
Options :

686340158213. 1
686340158214. 2



686340158215. 3
686340158216. 4

Question Number : 54 Question Id : 68634040057 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fer=Afad (wTsi) YoM &1 3T QLT B Y& RId = & o foan S &:
1, TATGIHT
RGIECAE]

[ ]

3. oS
4. qufeH

Options :

686340158213. 1
686340158214. 2
686340158215. 3
686340158216. 4

Question Number : 55 Question Id : 68634040058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Ig having Maximum Molecular Weight.

1. 1gG

J

IeM
3. 1eE
4.TgA

Options :

686340158217. 1
686340158218. 2
686340158219. 3
686340158220. 4

Question Number : 55 Question Id : 68634040058 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HYPAT VMR AT Iz & -

1. IgG
2. IgM
3. IgE
4. IgA

Options :

686340158217. 1

686340158218. 2

686340158219. 3
686340158220. 4

Question Number : 56 Question Id : 68634040059 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In klinefelter syndrome chromosome no 1s.

1. 48 (XXXY)

2

47 (XXY)
3. 48 (XXYY)
4. 46 (XY)

Options :

686340158221. 1
686340158222. 2
686340158223. 3
686340158224. 4

Question Number : 56 Question Id : 68634040059 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS ey RIS T TURGE] %1 H@ gl 6

1. 48 (XXXY)

| B

47 (XXY)

L#%]

48 (XXYY)
4. 46 (XY)

Options :
686340158221. 1



686340158222. 2
686340158223. 3
686340158224. 4

Question Number : 57 Question Id : 68634040060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Shortest chromosome is

1. Clwomosome 1

2. Chromosome 13

3. Chromosome 21

4. Clhwomosome 22

Options :

686340158225. 1
686340158226. 2
686340158227. 3
686340158228. 4

Question Number : 57 Question Id : 68634040060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. ORHA 1

2. 70T 13
3. U 21
4. II0A 22

Options :

686340158225. 1

686340158226. 2

686340158227. 3
686340158228. 4

o

Question Number : 58 Question Id : 68634040061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



mRNA to cDNA 18 made by.

1. Reverse transcriptase

-2

. DNA Polymerase

Lad

. RNA Polymerase
4, DNA Ligase

Options :

686340158229. 1
686340158230. 2
686340158231. 3
686340158232. 4

Question Number : 58 Question Id : 68634040061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mRNA ¥ cDNA &I ST 911 & -
1. Radl eHfeDd gR1

2. DNA Ui gRI

3. RNA Uil HE g3

4, DNA SIS gR1

Options :

686340158229. 1
686340158230. 2
686340158231. 3
686340158232. 4

-

Question Number : 59 Question Id : 68634040062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

First Antibody Prpoduced by newborn.

1. IgA

[
—
(o)

)

4. IeM

Options :
686340158233. 1



686340158234. 2
686340158235. 3
686340158236. 4

Question Number : 59 Question Id : 68634040062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol H R §1F aTd Ugdl UelEis 6 :

1.IgA

| B

e G

4.IgM

Options :

686340158233. 1
686340158234. 2
686340158235. 3
686340158236. 4

Question Number : 60 Question Id : 68634040063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which antibody is present in breast milk.

1.IgG
2.IgM
3. IgE
4. IgA

Options :

686340158237. 1

686340158238. 2

686340158239. 3
686340158240. 4

Question Number : 60 Question Id : 68634040063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Oi & w4 gy ¥ &I Hl Udials! urg Wil o -

1.1gG

Options :

686340158237. 1
686340158238. 2
686340158239. 3
686340158240. 4

Question Number : 61 Question Id : 68634040064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
IgM is.
1. Monomer
2. Dimer
3. Pentamer
4. Tetramer
Options :
686340158241. 1
686340158242. 2

686340158243. 3
686340158244. 4

Question Number : 61 Question Id : 68634040064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IgMT:
1. AR
2. 8IeHR
3. TR
4. TTAR

Options :
686340158241. 1



686340158242. 2
686340158243. 3
686340158244. 4

Question Number : 62 Question Id : 68634040065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Immune Complex hypersensitivity is which type of Hyper sensitivity.

1. Type-1

-

2. Type-11
3. Type-III
4. Type-IV

Options :

686340158245. 1
686340158246. 2
686340158247. 3
686340158248. 4

Question Number : 62 Question Id : 68634040065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gforen dingay fadideeiad @ruafaiefad) fou ver o sfdddgasiam g

1.e8T-1
2.TRY-1I
3.T8Y9-1II
4. TRY -1V

Options :

686340158245. 1

686340158246. 2

686340158247. 3
686340158248. 4

Question Number : 63 Question Id : 68634040066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Natural immunity of an animal is also known as acquired immunity

Reason R: Molecular probe can be used for both basic and applied studies in the field of molecular biology
and biotechnology

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A

[ )

. Both A and R are true and R 1s NOT the correct explanation of A
3. A s true but R is false
4. A is true but R 1s true

Options :

686340158249. 1

686340158250. 2

686340158251. 3
686340158252. 4

Question Number : 63 Question Id : 68634040066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
iy A: (ol oig o1 Uelds ulaeet o1 Surfeid wiavet Hieed § |

% R : (U] oifa a3 SfR o AEifiie! & aF § O SR srgad segae & foy snftas ue
@TgpeR UiE) &1 IUg a1 o 9ol gl

IR HYH & Y1 . fGU L [dmedl & § U5l SR & 989 PIfeL;
1. A IR R & 961 8 SRR, A DI Ig| e §
AR REHA I8 € R R AT TS e T &

AGTedfPAIR ITAT

2

Laa

4 AT APIRTAR

Options :

686340158249. 1
686340158250. 2
686340158251. 3
686340158252. 4

Question Number : 64 Question Id : 68634040067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled ag Reason R
Assertion A: Exchange of gases between blood and lungs 1s internal respiration

Reason R: Exchange of gases between blood and cells is internal respiration

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R 18 NOT the correct explanation of A
3. A s true but R is false

4. A 1s true but R 1s true

Options :

686340158253. 1
686340158254. 2
686340158255. 3
686340158256. 4

Question Number : 64 Question Id : 68634040067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

A9 3 A QU U T : U UHYT (Assertion A) T Y T 1RG0 ¢ 01 G811 39S BRI (Reason R) F
F0H .

HYDYT A: Bs] 3R TR & g 141 &7 faf-my sid: 499 8|

BRI R: 3R AR BIRrep16i & ot 746 31 faf oy sid: g5 8

IR Bl b i 5. U T fawedl T 8 Hel 3R BT 99 Bl
1. A R R 3HI 981 € SR R. A D! el AR &

[ )

. A 3R R S UE € 3R R. A F1 IS U el ©

AT UPAIR ITAD

[F¥]

AT AR TAS

e

Options :

686340158253. 1
686340158254. 2
686340158255. 3
686340158256. 4



Question Number : 65 Question Id : 68634040068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Upto the 3rd month of the intrauterine life erythropoiesis occur in the mesoderm of yolk sac

Reason R: Between the 3rd month and 5th month of intrauterme life erythropoiesis occurs in the liver and
spleen. this stage 1s called the hepatic stage of erythro poiesis

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

)

2. Both A and R are true and R is NOT the correct explanation of A

. A s true but R 1s false

5]

4. A 1s true but B 1s true

Options :

686340158257. 1
686340158258. 2
686340158259. 3
686340158260. 4

Question Number : 65 Question Id : 68634040068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 3 A QU MU T : TP UHYT (Assertion A) T Y T [IRGd ¢ 1 G811 395 BRI (Reason R) &
F0H .
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1. A SRR G 981 & 3R R. A D] US| e §

[

A SRR I T8 8 SIRR. A DI US| BT 61 &
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Options :

686340158257. 1
686340158258. 2
686340158259. 3
686340158260. 4

Lad

Question Number : 66 Question Id : 68634040069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Systemic Anatomy is the branch of gross Anatomy

Reason R: Regional Anatomy deals with any part or region of the body

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A

[ )

. Both A and R are true and R 1s NOT the correct explanation of A
3. A s true but R is false

4. A is true but R 1= true

Options :

686340158261. 1
686340158262. 2
686340158263. 3
686340158264. 4



Question Number : 66 Question Id : 68634040069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

19 Bl B2 (U T § : U SMUBYT (Assertion A) P =Y T (&1Gd ¢ ol g8 IUD BRI (Reason R) B
FUH .

AP A: 3fed TR (Refs tae) 9ed IRk @ e 9 ue IR R
HROMR: 81T IRR (oHd UMD &1 8¢ IRR & g 4 a1 83 9 g
SYYeRT PUHI b eI 1. [ 7Y [d@ed ¥ 4 Tl TR &1 90 Bl

1. A SRR &I U5 § SR R. A DI US| A &

[

A 3R R 98I § 3IRR. A D US| T 61 &
AGS AT R IS TR ®
AT TR e APTIR TG B

Options :

686340158261. 1
686340158262. 2
686340158263. 3
686340158264. 4

Lad

e

Question Number : 67 Question Id : 68634040070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Monopan balances are electronically operated and work on the principle of substitution of
weights

Reason R: Hot plate and magnetic stirrer instrument 1s used for the fast mixing of the solutes

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

b2

. Both A and R are true and R 15 NOT the correct explanation of A

L]

A 1s true but R is false

4. A iz true but R is true



Options :

686340158265. 1
686340158266. 2
686340158267. 3
686340158268. 4

Question Number : 67 Question Id : 68634040070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 5@@@%:@%%(:&35&11@11:&}%@ ﬁ%@ﬁ%ﬁ@ﬁﬁW(ReasonR}%
0>,

@Y A: HIUF (U U dlell) qald gaiae e &9 4 a1 gidl o SR YRl & widig & Hgid
R & Fd T

FRUR: E”Iglﬁ’c' 3R Tafes Reer (deo fadis®) 431 &1 Iuan facdl o diad 4 fafdh o3 & g
ERIEIGI

Se Sl & JTa® 1. ST T fdded! & I 981 3R &1 994 SHIT:
1. A 3R R 1 Wel § SR R. A 1 el oo &

[ )

. A 3R R G UE! € SR R. A & TSl e el ©
AU AP R Ui e &
AT TR e APTIR T B

Options :

686340158265. 1
686340158266. 2
686340158267. 3
686340158268. 4

[F¥]

e

Question Number : 68 Question Id : 68634040071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Moisture is necessary for the growth of bacteria since the major potion of the cells consist of
water

Reason R: Bacill are spiral like bacteria about 0.5 to 1.0 mm 1 diameter

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A

B

. Both A and R are true and R 15 NOT the correct explanation of A
3. A s true but R 1s false

4. A is true but R is true

Options :

686340158269. 1
686340158270. 2
686340158271. 3
686340158272. 4

Question Number : 68 Question Id : 68634040071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

A9 3 FA QU U § : U UHYT (Assertion A) T Y T (1RG0 ¢ o T80 39D BRI (Reason R) &
FO0H .
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Options :

686340158269. 1
686340158270. 2
686340158271. 3

[ B

Lad

e



686340158272. 4

Question Number : 69 Question Id : 68634040072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: In incision biopsy only potion of the lesion is sampled and this procedure is strictly used for
diagrostic purpose

Reason R: Microcopice study of individual cell in a smear 15 called histology
In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A

| B

. Both A and R are true and R 15 NOT the correct explanation of A

A iz true but R s false

%]

4. A iz true but R is trus

Options :

686340158273. 1
686340158274. 2
686340158275. 3
686340158276. 4

Question Number : 69 Question Id : 68634040072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A9 3 A QU T E : U HYT (Assertion A) T &Y T G § T G8R1 39 BRI (Reason R) &
FUH .

YD YT A: I/ IR 1 B2 It 1 & (g / dlioi & Rt U 411 &1 9941 (S0ge) fomn s g
R ufghar &1 3uai el Sl & fo foar oidr g

PRI R: TGS HII] 51 FRER /) 3ed I J&IE2ia g el / Sifo®! eard o
e Byl & areiie O, f4U U e ed! O 3 1l 3Tk &1 99 Bl
1. A 3R R 31 98l § SR R. A T el Ora

2. AR REFT TS € IR R, A P Uet surem 78T ©

3

ATA AT R A R
A ATSI TR e AT R T

Options :

686340158273. 1
686340158274. 2
686340158275. 3
686340158276. 4

Question Number : 70 Question Id : 68634040073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Read the following statements:

Statement I: The red cell sedimentation is decreased at higher temperature

Statement IT: The red cell sedimentation 1s mcreased at higher temperature

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement I are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II 1s false

4. Statement [ iz false but Statement I is true

Options :

686340158277. 1
686340158278. 2
686340158279. 3



686340158280. 4

Question Number : 70 Question Id : 68634040073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

C AR IE AR

YU I TS BIDHI B 3G IR dTHHI W BHH 8l oidl gl
FHUF I T DIAPT T e I=ck d9HH IR §g g
STed Byl & TS 1, AU T fawedl & 9§ 981 3R @1 994 S

1. PYUA1 3R I SHI 9T &
2. FYTI AR 1A ST B

3. FYTI IO e, dfpT U I T ©

4. BYT I3 . AT pUT I I &

Options :

686340158277. 1
686340158278. 2
686340158279. 3
686340158280. 4

Question Number : 71 Question Id : 68634040074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Read the following statements

Statements I: Collagen stain yellow to orange with Resorcin fuchsin stain
Statements IT: Nucle1 stain blue with aniline blue stain

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement [ and Statement II are tiue

]

2. Both Statement I and Statement IT are false

. Statement I is true but Statement 11 1s false

Lad

4. Statement I 15 false but Statement II 1s true

Options :
686340158281. 1
686340158282. 2



686340158283. 3
686340158284. 4

Question Number : 71 Question Id : 68634040074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIERARIESEURI

FYA I BIaror SRS R PRE SR & 9y Uid 9 TR 8 & g
B I1: TTd A &g HITRSP & 1Y Dad Ardl SRS Al g

SUdad HYHl & STelie 4, 73U T [dwed] & 3 95l IR &1 904 DIfT:

| BUT RIS 58

Y SR 11 E A

HYT 1 I T, ApT BT I A ©

[ ]

[F¥]

4. Y1 3T 8. AfPT BYT 1 T &

Options :

686340158281. 1
686340158282. 2
686340158283. 3
686340158284. 4

Question Number : 72 Question Id : 68634040075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Read the following statements

Statement I: Oligonucleotide microravs chips are made directly from sequence databases. so that no clones
need to be handed

Statement IT: cDNA microarrays are easy for pro to typing and data analysis

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement IT is true

Options :

686340158285. 1
686340158286. 2
686340158287. 3
686340158288. 4

Question Number : 72 Question Id : 68634040075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIERARIE R
BYA I: ISR SHICIZS T IReR (Y& [ e & Hle s m Sieed § a4rd1 ord 6. o
FAM! P BRI (B3-1%) B SaRAHAT 6l ol 6l

HUF II: cDNA SIS Uielersiu SR Slel AR (Hids] & [a=eyu) & &g = sl g
Sudad HYHl & Selie 5, f3U T fdwed! & 3 98l IR &1 904 DIfu:

1L BHEINRIIA 9O 8

2. FYA AR 11 ST A ©
3. FYT 19 ©. Wi BYT 11 A ©
4. DY ST 8. Al DU 11 A §
Options :
686340158285. 1

686340158286. 2
686340158287. 3



686340158288. 4

Question Number : 73 Question Id : 68634040076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Read the following statements

Statement I: Function of reproductive system is that gonads produce gametes that unite to form a new
organism

Statement IT: Pelvic cavity contain reproductive and excretory tract organs

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement I are true

2. Both Statement [ and Statement II are false

3. Statement I is true but Statement II 15 false

4. Statement I is false but Statement II is true

Options :

686340158289. 1
686340158290. 2
686340158291. 3
686340158292. 4

Question Number : 73 Question Id : 68634040076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬁaaﬁwmnq%:
fFrafeiad syl &1 gfeu

DY L: O o DI D1 4 § [ g (THSH) GHS! B §91d & ol GRAT 5P AU Siid &l @1d 6 |

Y 11: JUT TET H O SR Icfoi 9y & ST Eld 6

Sudad dUHl & el 1, [3U MU fdwed! & 9 98t IR &1 994 Sife;
1. B 1 SR 11 3 9 §

YA 1 AR 11 3T S §

PYT 1A T, afbT P I 3T &

| B

Lad

4. YT A S, A FT PYT I T ©

Options :

686340158289. 1
686340158290. 2
686340158291. 3
686340158292. 4

Question Number : 74 Question Id : 68634040077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Read the following statements

Statement I: Peritoneal Fluid is clear fluid present in peritoneal cavity
Statement II: Polyuria is the condition when patient passes urine less than 2000 ml in 24 hrs
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true

[

. Both Statement [ and Statement IT are false

3. Statement I is true but Statement II is false

4. Statement I is false but Statement IT is true

Options :

686340158293. 1
686340158294. 2
686340158295. 3
686340158296. 4



Question Number : 74 Question Id : 68634040077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sy iume.
Fafaiaa Ty S afeu

U 1 TRteifaet 5 gdei et et & urar o aren fefa ga g

U 11: TieTgaT 98 Rl g o/ IT 24 B2 T 2000 mi ¥ HF 97 Walied ddl ol
Sudad HYHl & e 1, [3U MU fdsedl & I 951 3R &1 904 DIfT:

1. YA IR NG T &

2 FUAI ARG 3T S
3. PYT 1 T 8. Afde YA 11 3T &

4 PYTI M . AfbT YT I g ©

Options :

686340158293. 1
686340158294. 2
686340158295. 3
686340158296. 4

Question Number : 75 Question Id : 68634040078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Read the following statements

Statement I: Pharyngeal tonsil are found at roof of posterior wall of pharynx
Statement IT: Thymus gland produce B cells

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are true

2. Both Statement I and Statement IT are false

3. Statement I is true but Statement II is false

4, Statement I is false but Statement II is true

Options :

686340158297. 1
686340158298. 2
686340158299. 3
686340158300. 4

Question Number : 75 Question Id : 68634040078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

fl’l%?ﬂ&?ﬂ?fﬁqﬁq%‘“:

HUA I T l-ad geHT (BRew) o1 gy ity & &d te uig 91 g

HU I1: UTSHY U B- ST I 6
SUdad HYHl & Selie 1, 73U T fdwed] & 3 98t IR &1 904 DIfu:
1. BY1 3R 11 ST 5 §

BYT1 IR 11 ST 3 ©

| ]

YT 1 9d 2. AfeT YT 11 9T &
4. PYTI T e, AT PYT 1 g &
Options :

686340158297. 1
686340158298. 2



686340158299. 3
686340158300. 4

Question Number : 76 Question Id : 68634040079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Read the following statements

Statement I: Eosinophilic meningoencephalitis is caused by Angiostrongvlus costaricensis
Statement II: River blindness is the name given to disease caused by Onchocerca volvulus

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement [ and Statement IT are true

.

2. Both Statement [ and Statement IT are false

[#F%]

. Statement I is true but Statement 11 is false
Statement [ is false but Statement IT 1s tiue

4. Statement I iz false but Statement I1 1s true

Options :

686340158301. 1
686340158302. 2
686340158303. 3
686340158304. 4

Question Number : 76 Question Id : 68634040079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ey iumue.
FUYA I SAHRAISTE ARuasasey tomel~ay dReria<a® gRI gl o

DU I1: HiD 9! diegad gRI Gl aTd I B Ko sargs-4 A/ [Ga1 1 g |
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CHYF 1 SR 11 g 3T ©
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Options :

686340158301. 1
686340158302. 2
686340158303. 3
686340158304. 4

Question Number : 77 Question Id : 68634040080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Select the correct statements only

A. The antisera should not hemolyze red cells carrying the corresponding antigens

B. Apheresis technique also determine blood volume of patient and donor

C. Anti A serum is obtained from B-type individual since there is a natural occurrence of Anti A agglutinin
111 Serum

D. The Ant1 A, Anti-B typing serum 1s obtained from Ab-type individual

E. Ouly group 'O’ blood will agglutinate with Anti AB

Choose the correct answer from the options given below:
1.A.D.E only
2.B.A. Conly
3.B.D.E only

4.C,D.E only

Options :

686340158305. 1
686340158306. 2
686340158307. 3
686340158308. 4



Question Number : 77 Question Id : 68634040080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Had el HYA DI T

A, THRIRY! &1 HTd USToH] o1 dg- - alall dld Yad DI &1 =18R g g] BT dligu|

B. UhRRT @1 01T AR a1 % 3ad & aa- &1 i o &t g1

c.ﬁ-gﬁgﬁs-mwﬁaﬁ@w%mam%aﬁﬁ?@wﬁﬁa5@"&?14 Ylepfces =0 I
BIBIRCIRIG]

D. Uct-A UFL.B eTsftil IR &1 AB 5y sufdaal T wre fasar Sian &1

E. fath @7t ‘o' &1 U Ul AB a0 & 1Y A% (Fgfed) g gl

1= fdu U fam el & O gl Iugdd ST 1 95 DI
1. AT A, D, E
2. %ad B, A, C
3. ®dd B.A.E
4. 94U C.D,E

Options :

686340158305. 1
686340158306. 2
686340158307. 3
686340158308. 4

Question Number : 78 Question Id : 68634040081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the correct statements only

A It is necessary for every laboratory to determine reference ranges for every quantitative test
B. Quality objective are generally based on the laboratory quality policy

C. Iodine mineral is used for synthesis of thyroid hormone

D. The conversion of lactic acid to glucose occurs through urea cycle

Choose the correct answer from the options given below:

1. A. B only

2

.C.D only

L]

.B.D only
4. A, C only

Options :
686340158309. 1



686340158310. 2
686340158311. 3
686340158312. 4

Question Number : 78 Question Id : 68634040081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Had FEl B BT IHT:

A. %Wm%%ﬁﬁw%ﬁi e HETES GIRe & fo e iR (Xm i I9) &1
feior ¥

B. UG 3520 HEFI: WHHTITET [ural =il U SR sid 6l

C. YRS g & YUl & 7T SIS fHmRa &1 Sugi {31 S g

D. Tige® 3T P 7qPH I H =Uia0l gRAT 99 & gRI eldl |

1= fu v fas el & O gad Iugdd 9ol &1 99 ST

1. Pad A. B
2. HIAC. D
3.%auB.D
4. PAAA. C

Options :

686340158309. 1
686340158310. 2
686340158311. 3
686340158312. 4

Question Number : 79 Question Id : 68634040082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the correct statements:

A. In 1884 Nicolaier observed the Tetanus bacillus bacteria in water

B. In 1879 Neisser described Gonococcus type of cocel

C. In 1866 a third kingdom of living organism protista was established by Haeckel
D. In 1882 Typhus disease was discovered by Robert Koch

Choose the correct answer from the options given below:

1. A.Donly

| B

.C.D only

LiF]

.A. B only
4.B. Conly
Options :
686340158313. 1
686340158314. 2

686340158315. 3
686340158316. 4

Question Number : 79 Question Id : 68634040082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. 1884 T M1 A Oiel T 229 g9ierg Sianu[3fl 1 o Ul

B. 1879 ¥ AR A THIFHIPTIHR & S siaru]si & affd faar 41

C. 1866 & Toftal & di [Hrsd (o) Uifcwel & edha gR1 RUTue faoan T 1|
D. 1882 TG B A BT AT S @i ot i

A= 4T 7T fasedi O O 9ad IUged 9Tk 1 90 SHIIT;
1.HddA. D

.$adC.D

3. Bdd A, B

4.9 B, C

[ B

Options :

686340158313. 1
686340158314. 2
686340158315. 3
686340158316. 4

Question Number : 80 Question Id : 68634040083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the correct statements only

A. Planewedge type of knives are used for cutting frozen section giants section and ordinary paratfin section

B. Over tightening of blades to the clamp can result in cutting artifact

C. During processing of tissue by manual method excessive exposure of the tissue to low temperature soft
the tissue

D. Unfixed specimen are not used for special staining procedure

Choose the correct answer from the options given below:
1. C.D only
2.B. C only
3.A.Donly

4. A. B only

Options :

686340158317. 1
686340158318. 2
686340158319. 3
686340158320. 4

Question Number : 80 Question Id : 68634040083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S el YAl I U -
A. T 991/ H1e] BHESR UHR & 9193l o1 3udiT [Gaeiifid SeH (@1e) Jee Ja99H 3R 99
TR (H19) TawE! & STe & [ [ Jar gl

B. 181 &I G0l U3 (¥ a- § 3R 3cfthde oc gadi ol

c.m?ﬁﬁm%uﬁwaﬁwmmmw dUHH & o 3ifeiep IGHT HdP Pl g B
¢arsl
D. RIS (3fthas) Ulagxil () &1 I9anT ARy sl & o =18l oo war g |

1= fdu e fasedl § 9 ged Iugdd G &1 98 ST
1.%dd C. D
2. HAUB. C
3. PAAA.D
4. AU A B

Options :

686340158317. 1
686340158318. 2
686340158319. 3
686340158320. 4



Question Number : 81 Question Id : 68634040084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Select the correct statements only

A, Mushroom toxin o-amanitin inhibits transcription by binding with RNA Polymerase 11

B. Erythromycin binds to the 50s ribosomal subunit and prevent translocation

C. Translation from the mRNA polypeptide code to protein is mediated by lysosome in the Nucleus of the
cells

D. A neutral mutation has harmful or-beneficial effect the organism

Choose the correct answer from the options given below:

1. C.D only

| o]

.D. A only
3.A.Bonly
4.B. C only
Options :
686340158321. 1
686340158322. 2

686340158323. 3
686340158324. 4

Question Number : 81 Question Id : 68634040084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Had el HY P HT

A. TRR=H {9 o TEHTER RNA TIRTERS 118 1Y 95 S8R == (3F0E) B Sid R Sd &

B. SRUMERA 505 ISERIH] SUSPR O 85 BlR AP (RIHIART) & AHd &
C. mRNA UTAOPES BIS I UIdH 5 ey & 99Rd DIl & $a® o asddd gRI gk o
D. 32 Idf¥ady & oild IR giR®R® a1 SFIaryaad WHd 811 ¢ |

A< AU U fasedl & O 998 SUged Gox 1 994 SIuIT:
1.$auC. D
2. Bad D, A
3. PAdA. B
4. PATUB. C

Options :
686340158321. 1
686340158322. 2



686340158323. 3
686340158324. 4

Question Number : 82 Question Id : 68634040085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the correct statements only

A. Opsonin is a substance capable of enhancing phagocytosis

B. Plasma cell is a terminally differentiated B-cell that secrets antibody

C. Chemokines are high molecular weight proteins that stimulate leukocyte movement
D. Histocompatible means sharing major histocompatiability complex antigen

Choose the correct answer from the options given below:

1.C.D. Aonly

| B

.A.B.D only
3.B.C.Donly
4. A B.Conly
Options :
686340158325. 1
686340158326. 2

686340158327. 3
686340158328. 4

Question Number : 82 Question Id : 68634040085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hard Hel YA DI T
A. T T gard off BIRIg el (Me] o) - & Wed B
B. waﬁ@m@&m@jmﬁr%ﬂﬁﬁﬁ ﬁ@w%a‘rq@aﬁﬁmﬁam—cﬂ%

C. DIHBIEA 3= MR & WIEH § &l aTt] (b 41ge) &I I1d Bl Seilud Hd o
D. FHa® Yaied o1 34 I Sasm el SIae TioH &f Ueien g

e fRU U fao et & O 9ad SUged GO &l 99 HIU;
1.9dd C,D. A
2. 94 A, B.D
3. $ddB.C.D
4. PIAA.B.C

Options :
686340158325. 1



686340158326. 2
686340158327. 3
686340158328. 4

Question Number : 83 Question Id : 68634040086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Autonomic nervous center is controlled by frontal lobe
B. Friendman's test is done to determine pregnancy

C. Outer covering of heart is called myocardium

D. The eye ball is moved by § muscles

E. Upper end of stomach is called pyloric end

Choose the correct answer from the options given below:

1.D. E only

| B

.B. C only
3.A.Bonly
4. A E only

Options :

686340158329. 1
686340158330. 2
686340158331. 3
686340158332. 4

Question Number : 83 Question Id : 68634040086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, a1 dfF®T S5 &1 3@ aale Uit (wicd a) gR1 HafEd fear aar g
B. St Ui&iur eyt &7 [HeiRur - & farg fasar oiran g

C. 550 & T84] TR0 I HIPIS g (HEER) $ed &

D. 73 Tiae &1 71fg & ORIl gRI g B

E. T &1 30 R Sexiai (s aiie vs) seani

i fRu e fao e © O 999 SUged SOR &1 99 PIU;
1.dd D. E

. $dd B, C

3. Hdd A B

4. PAIAE
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Options :



686340158329. 1
686340158330. 2
686340158331. 3
686340158332. 4

Question Number : 84 Question Id : 68634040087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List [T

LISTI LISTII
Clinical conditgion Immunoglobulin altered
A |Chronic Infection 1. |lncrease in IgM
B |Trypanosomiasis II. Increase in [gG
C. [Laennec's cirrtosis III. |igA, Igm, Ig( are decrease
D. |Chronic lymphatic leukemia TV, |Increase in [gA

Choose the correct answer from the options given below:

1. A-IL. B-II. C-IV, D-III

| ]

AL B-1I1L C-IV. D-1
3. A-IV, B-IIL. C-I. D-II
4. A-TIT, B-IV. C-II. D-1

Options :

686340158333. 1
686340158334. 2
686340158335. 3
686340158336. 4

Question Number : 84 Question Id : 68634040087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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1. A-TIL. B-1. C-IV, D-III

ofofw[s

2. AL B-I1. C-IV. D-1
3. A-IV, B-III. C-I, D-I1
4. AL B-IV. C-I1. D-I

Options :

686340158333. 1
686340158334. 2
686340158335. 3
686340158336. 4

Question Number : 85 Question Id : 68634040088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A [Fixing 1. |To provide necessary hardness to cut section
B. [Embedding II. |Thin section of tissue are cut by using microtome
C. PMicrotomy III. |To preserve the natural state of the tissue
D. PMounting IV |After sectioning

Choose the correct answer from the options given below:

1. A-II, B-I'V. C-1, D-III

[

. A-IIL B-I, C-IL. D-IV
3. A-IV. B-IIL. C-I. D-II
4. A-1. B-IV, C-II, D-IIT

Options :

686340158337. 1
686340158338. 2
686340158339. 3
686340158340. 4



Question Number : 85 Question Id : 68634040088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 gl 11 9 e sifeg

A 1 T I
A [Pt (R 1. ﬁ%@mﬁ%ﬁﬁm gD Hold daH
B. [T (3id: G 11 [5d® & o= "Ikl H 4 P Ald &
C. [Frgwmtem 11 [SHd@ &) Jdhid HaI1 B GRHTET H]
D. [ARE=A (3R |1V [e=E @ & a1
Fafafad faeedl o 9 9el o &1 98 I

1. A-IL. B-IV. C-1, D-III

| ]

CA-IIL B-LL C-1. D-IV
3. A-IV, B-III. C-I, D-II
4. A-I. B-IV. C-I1. D-III

Options :

686340158337. 1
686340158338. 2
686340158339. 3
686340158340. 4

Question Number : 86 Question Id : 68634040089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : (

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT Some of disease which transmitted from animal to man

LISTI LISTII
Disease From

A |Antharax I. |Goat

B. Malta fever II. [Horse

C. |Tetanus I1I. |Rat

D. [Plague IV |Cattle and sheep

Choose the correct answer from the options given below:

1. A-IIL, B-1I. C-1. D-IV

| S]

A-IL B-IIL C-IV, D-I
3. A-IV. B-1. C-11. D-IIT
4. A-L. B-III. C-IL. D-IV

Options :
686340158341. 1



686340158342. 2
686340158343. 3
686340158344. 4

Question Number : 86 Question Id : 68634040089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g= 11 ¥ e S
g1 T I
A [oieg I [@&d
B. [ATeeT 6T 1L [grs
C. [ee=g 111 [gET
D. [ V. [T 3R 18
frgfeted fawedt & ¥ Uet SR &1 997 B -

1. A-IIL B-IL. C-I. D-IV

| B

AL B-IIIL C-IV. D-1
3. A-IV., B-1, C-II, D-III
4. A-I. B-III. C-II, D-IV

Options :

686340158341. 1
686340158342. 2
686340158343. 3
686340158344. 4

Question Number : 87 Question Id : 68634040090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST 11
A |Phytase 1. |Delignification
B. [Xylanase II. |Gluten complex reduction
C. [Laccase II1. Improve mineral availability
D. |Bromelain IV [Paper and pulp processing

Choose the correct answer from the options given below:

1. A-I. B-IV. C-1. D-III

[

CA-TV. B-IIL, C-I1. D-1
3. A-IL B-IV. C-III, D-I

4. A-IIT, B-IV. C-I, D-11



Options :

686340158345. 1
686340158346. 2
686340158347. 3
686340158348. 4

Question Number : 87 Question Id : 68634040090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g 11 ¥ i S

1 Tt 1
A [BIscg 1 [H@mE
B [dIgcHy 1L [fee BIHclad Huged
C. [oaeyg 111 [Tl Jucieal ] GGl o
D. [giffcEa 1V, [@TTe AR &1 T
fgfaiad fdeedl & 9 Tel STk &1 994 Sifoiy :

1. A-I. B-IV. C-II. D-III

| B

CA-IV, B-IILL C-I1L D-1
3. A-II. B-IV. C-I11. D-T}
4. AL B-IV. C-I. D-II

Options :

686340158345. 1
686340158346. 2
686340158347. 3
686340158348. 4

Question Number : 88 Question Id : 68634040091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List [T

LISTI LISTII

Found in different members of
Same species

Alloantigen II. [Depends on antigenic determiner
Hetrophile antigen | 111 JA person own self Antigen
Antigen found in cells tissue of
different species

A utoantigen I

o [o]=] =

| Antigen specificity| TV

Choose the correct answer from the options given below:

1. A-IIL B-1. C-IV. D-II
2. A-L B-IL C-IIL. D-IV
3. A-ILL B-II1. C-IV, D-I
4. AL B-II. C-II. D-IV

Options :

686340158349. 1

686340158350. 2

686340158351. 3
686340158352. 4

Question Number : 88 Question Id : 68634040091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=t 1 1 g 11 F e Sifsn
T 1 T I
A [SIeU=ToH (U= o) 1 [o@ of Eieivl & [id gl | urs oirdl &
B. [Tau=ToH (3UUides) 11 [0t FyRe R A #di ©
C [ERIFEg foum t=teq) | 1. [@fEa & e T=ted
D. [e<1oH ARl 1v. [ ielisl &) BIfEdls SR SHamH H Uil ofH dare T=ieH
HafaRad faeedi O ¥ Hel STk &1 99+ Sifog :

1. A-IIL B-1. C-IV. D-II

| B

cA-L B-1IIL C-1II, D-IV
3. A-IL, B-III, C-IV. D-1
4. AL B-11, C-1, D-IV

Options :

686340158349. 1
686340158350. 2
686340158351. 3
686340158352. 4



Question Number : 89 Question Id : 68634040092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with Tist IT

LISTI LISTII
. MNucleolus 1. |Transport of Macro molecule
Spharerosome | II. |Break down of fatty acid
Deroxisome III. |BNA synthesis
. |Plasmodesmatal IV |Lipid storage

o|o|w|=

Choose the correct answer from the options given below:

1. A-IV. B-III. C-1. D-II

| )

AT B-IV, C-I1, D-1
3. A-L. B-I1. C-IIL, D-IV
4. A-IV, B-III. C-II. D-I

Options :

686340158353. 1
686340158354. 2
686340158355. 3
686340158356. 4

Question Number : 89 Question Id : 68634040092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 gl 11 9 e Sifn

A1 T 11
A [hed  giaadlad] 1 [geamsd &1 i
B. [EhTgE 1. [aar 3 &1 g e
C. [magH 1L [RNA TEeH0
D. [T . [fafus YerRo
FFrafciad fasedl § O 98l 3Tk &1 94U B -

1. A-IV. B-III. C-I. D-II

| B

A-TIL B-IV. C-I1. D-I
3. A-L, B-I1. C-IIIL, D-IV
4. A-IV, B-III. C-II. D-I
Options :

686340158353. 1
686340158354. 2



686340158355. 3
686340158356. 4

Question Number : 90 Question Id : 68634040093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List [T

LISTI LISTII
A. [Dupp I Suhu:_ellula.r space in the surface tissue of
tonsils
B. [Lubb II. [Fold of pleuron in the middle of lungs
C. lorypts i Sound produce by the semilunar valve of
[Heart
D. PMediastinum | IV, JA sound produced by the heart muscle

Choose the correct answer from the options given below:

1. A-IV. B-III. C-1. D-II
2. A-L B-IIL C-L1. D-IV
3. A-IIL B-IV, C-1. D-II
4. AL B-1. C-I1. D-IV

Options :

686340158357. 1

686340158358. 2

686340158359. 3
686340158360. 4

Question Number : 90 Question Id : 68634040093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=it 1 1 g= 11 ¥ fHaE S

T T
pupp 1 [el=d & Tdg Shdd H SUSI Hgdld
Lubb 1L [bhg & 0§ TRH &1 Bieg / 909

Crypts (P | 111 [857 & ot dled §R1 304 €14 arcl @i
Hifear were-g| 1v. [gaa U=l g0 399 e ardl @i

FFefaiad ol ¥ O ugl 3R &1 994 S -

1. A-IV. B-III. C-1. D-II

CIEEIE

| B

CA-ILL B C-1L, D-IV
3. A-IIL, B-IV. C-1, D-11
4. A-IIL B-1. C-I1, D-IV

Options :

686340158357. 1
686340158358. 2
686340158359. 3
686340158360. 4

Question Number : 91 Question Id : 68634040094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I Instrument LIST II Scientist
A |PHOTOMETER I |Theodor Svedberg
B. IMICROSCOPE 1I. |Carl friedrich Richard foerster
C. |Analvtical ultra centrifuge] I11. |Arnold O. Beckman
D. |Spectro photometer IV. |2 ACHARIAS JANSEEN

Choose the correct answer from the options given below:

1. A-II, B-IV. C-1, D-III

[

. A-L B-III, C-IV, D-II
3. A-L. B-IV, C-I1, D-III
4. A-IV, B-I1. C-1, D-IIT

Options :

686340158361. 1
686340158362. 2
686340158363. 3
686340158364. 4



Question Number : 91 Question Id : 68634040094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 e i

1 I
bl st
A, [pleHER L [2ueR waa
B. [aE®sig 11. [Td heid, s B
C. [a=ciite 1 AT iad / el Gewd | 111 [oics T Soia
D. [aeimieHe IV. [Sp1RaTd S 9
fafefad faeedi & 9 9el STR &1 994 S

1. A-TIL. B-IV, C-1, D-III

| ]

- A-L B-IIL. C-IV, D-II
3. A-L B-IV. C-I1, D-III
4. A-IV. B-1L. C-1. D-III

Options :

686340158361. 1
686340158362. 2
686340158363. 3
686340158364. 4

Question Number : 92 Question Id : 68634040095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Read the following and arrange them in correct sequence for steps.

A. Add serum block

B. Add special block

C. add polymer link

D. Prepare tissue add blocking reagent
E. Add primary Antibody to specimen

Choose the correct answer from the options given below:

1.ABCD.E

[ ]

DAGE B, €
3 EBACD
4.°E, D, C B A
Options :

686340158365. 1
686340158366. 2



686340158367. 3
686340158368. 4

Question Number : 92 Question Id : 68634040095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FaRiREd 31 Ui SR 390! HioRan Hae - (SR Teld i) & Tel 901 H aiyd Sifo .

A IRH sl gy

B. [d9y =dii® faegy

c. g fie & fiase

D. Fa® [fHa S iR saidT/ aRies Afiete Hage
E. W0 / T § Uryfie uieist fHagu

1= 14U 77U fasredi § O gad Iugad 9o) B 90 BT
1.AB CDE
2.D.A.E.B.C
3.E.B.A.C.D
4.E.D.C.B.A

Options :

686340158365. 1
686340158366. 2
686340158367. 3
686340158368. 4

Question Number : 93 Question Id : 68634040096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Correct sequencing of evolution (simplesto complex) is.
A, Bryophytes
B. Angiosperms
C. Ferms
D. Algae

Choose the correct answer from the options given below:

1.A.D.C.B

| B

.C.B.D.A
3.D.A.C.B

4.B.A.D.C



Options :

686340158369. 1
686340158370. 2
686340158371. 3
686340158372. 4

Question Number : 93 Question Id : 68634040096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qiae (TRd 9 Sied) &1 98l SPH § -
A. STIHIEEH
B. USROS (S1dd el
c v
D. 24T

194U U fasmedi # O 9ad Iuged STk &1 90 ST

1.LA.D.C.B
2.C,B.D.A
3.D.A,C.B
4.B.A.D.C

Options :

686340158369. 1

686340158370. 2

686340158371. 3
686340158372. 4

Question Number : 94 Question Id : 68634040097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The protocol for carrving out polymerase Chain Reaction involves a number of steps. Arrange in correct order.

A. Denaturation of DNA

B. Isolation of DNA

C. Annealing of primers to DNA

D. Extension of primers

E. Repetition of amplification cycle for 29 more times

Choose the correct answer from the options given below:
1.B.A, C,D,E
ZABEDE
3:DABCE
4.D.A C.B.E

Options :

686340158373. 1
686340158374.2
686340158375. 3
686340158376. 4

Question Number : 94 Question Id : 68634040097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tieiti 9 NUeRE & Wieidid 5 34 990 iifed €1 398! 9el &0 § TS

A. DNA &1 fagfaeo

B. DNA &1 GUaHan|

C. DNA & [¢U WigHRl @1 3f=iaH
D. AR P forRo

E. Gt 9% &1 20 IR GRIEGRI

1= fqu T fae el & 9 gl Iuged GO &1 994 ST

1.B,A.C.D.E

2.A.B.C.D.E
3.D,A.B.C.E
4.D.A.C.B.E

Options :

686340158373. 1
686340158374. 2
686340158375. 3
686340158376. 4



Question Number : 95 Question Id : 68634040098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct order of complexes that transfer electrons from one to another in respiratory electron transport
chain is.

A. Cytochrome c oxidase

B. Cytochrome c

C. NADH-Q-oxidoreductase
D. Coenzyme Q

Choose the correct answer from the options given below:

1.C.D.A.B
2.0, 0.8 A
3.D.C.B.A
4.B.C.D. A

Options :

686340158377. 1

686340158378. 2

686340158379. 3
686340158380. 4

Question Number : 95 Question Id : 68634040098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT goiagH SIETTEE Tl § U6 4 gL @F W sodg | ol RIHITRUI 6 ald &Il &l 98l
&

A TEcipig ¢ Higdey

B. YI2cihig ¢

C. NADH-Q Jddie] ey
D. BITSIEH Q

125U 7 fasmedi & 9 9e Iugad 9OR &1 90 BT

1.C.D.A.B

| )

G, D B:A
iD.C.BA
4 B.C.DA
Options :

686340158377. 1
686340158378. 2



686340158379. 3
686340158380. 4

Question Number : 96 Question Id : 68634040099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct sequence of the event in human female reproductive cycle 1s.

A. Sudden increase in the level of LH
B. Growth of corpus luteum

C. Growth of follicle and oogenesis
D. Ovulation

E. Secretion of FSH

Choose the correct answer from the options given below:

LBADCT
2.6,B.D,AE
3.4,B. B EC
4 E.C.A.D.B

Options :

686340158381. 1

686340158382. 2

686340158383. 3
686340158384. 4

Question Number : 96 Question Id : 68634040099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afedr 59 =9 T gearsli ST 98 $U B

A.LH & R H 1o fded gig

B. HlUGGREH B dla

C. Bifdfdd (i) o1 4fg 3R sigeH
g

E. FSH & HaUl

i feu U f[deedl # 9 9ad S STk &1 994 DIfuIu:
1.B.A.D.C.E
2.C.B.D.A.E
3.A.B.D.E.C
4ECAD.B

Options :

686340158381. 1
686340158382. 2
686340158383. 3
686340158384. 4

Question Number : 97 Question Id : 68634040100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Read the following write correct sequence of urea cycle.

A. Formation of Citrulin

B. Formation of Arginine

C. Formation of Urea

D. Formation of Carbamoyl phosphate
E. Formation of Argininosuccinate

Choose the correct answer from the options given below:

1LEBDAT
2.B,D.A.C,E
3.D,AE.B.C
4. E.D.C.B.A

Options :

686340158385. 1

686340158386. 2

686340158387. 3
686340158388. 4



Question Number : 97 Question Id : 68634040100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

[Frafeiaa =1 ufeu ik gfear 9 & gt siss &I fafau:

C. gRAT BT &

D. P19 00 BlEhe BT g1

E. AuliFAgadHe

123U T famedi & 9 9e Iugdd IR &1 90 BT

1.C.B.D.A.E
2.B.D.A.C.E
3.D.A.E.B.C
4.E.D.C.B.A

Options :

686340158385. 1

686340158386. 2

686340158387. 3
686340158388. 4

Question Number : 98 Question Id : 68634040101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The standard deviation of a set of values will be.

1. Positive when the values are positive

J

. Positive when the values are negative
3. Always positive
4. All the above

Options :

686340158389. 1
686340158390. 2
686340158391. 3
686340158392. 4

Question Number : 98 Question Id : 68634040101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl & G ST OFS (a9 g

1. T, Sad A YAES 6id ©

2. UATHD, Tl 319 BUTHS Eﬁ%
3. Fed UEHD
4. ITaT H Y AT B

Options :

686340158389. 1
686340158390. 2
686340158391. 3
686340158392. 4

Question Number : 99 Question Id : 68634040102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Gram positive bacteria stain colour after gram stain

1. voilet

2

. green
3. red
4. pink
Options :
686340158393. 1
686340158394. 2

686340158395. 3
686340158396. 4

Question Number : 99 Question Id : 68634040102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T TS SiaTy] SO {11 81 § T ARSH & 918
1. ST
Bxd

[ ]

3. dlet

4. T[eATEl

Options :



686340158393. 1
686340158394. 2
686340158395. 3
686340158396. 4

Question Number : 100 Question Id : 68634040103 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Rice water stool is characteristic feature of.

1. Steatorrhea

-2

. Constipation
3. Bacterial infection

4. Cholera

Options :

686340158397. 1
686340158398. 2
686340158399. 3
686340158400. 4

Question Number : 100 Question Id : 68634040103 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Trae Ut 3a sifiraefoes fagvare:
1. Wt ot

2. U &l

3. Sitaru] Hehau
4. BICRT Bl

Options :

686340158397. 1
686340158398. 2
686340158399. 3
686340158400. 4



